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4217 el& A= 148,863 148,863 0
22l - AHBIAAE - 12)42 1,430,000 17,160,000
22|t AU IRMUMER BHAS 30,000,000
- SAEHE HAF 30,000,000
-8z ez S REES 7,000,000
JAUXNZHE 1,82 2ZTEQYO AISE 14,883,000
2.MS AZEYNAH AIBE 30,000,000
3.PCEZXAMHBIA @ 3User*1,000,000& 3,000,000
4. 8041 HA HIE 9,300,000
5. 2EX(2ZIP) ABE 700,000
6. ABNYXE AHES 2,200,000
OICIOI=20lZ =AY X2(4,620,000)
-8tJ1%(3,4,5,6,9,10,11,12)*550,000& 4,400,000
-%st=(7,8,1,2)*55,000& 220,000
4220 LEtateld| 1,063,145 1,053,515 9,630
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Al - Al

[l
i

IHEE 0l &FA

<Xl &> (o9 @ Q)
2 = =oi%m | G o | oA 4 & 2 (29 R)
) 8 = Oll &4 (A) (B) (A - B)

4221 (4Hl W Sl 37,200 32,200 5,000

SR -SUHE&Z Y 5,000,000

Il ot -2 2AESEHY| 10,000,000

S22 -= 2 & & 10,000,000

CIXtQIHE  -S.V.A SHRICIRIQI ¢ Q5= FHH| 6,000,000

-l 0lEs E&H B 5,000,000

SR -ANUHEE WS 100,000& x12& 1,200,000
4222 XK XY 11,400 11,400 0

SR -HREXNY RFOU(20)

2400,000& =12 4,800,000

2te| ot -xtek22ld| (20H) 3,000,000

SR =X, S¥Z S . 100,000& 12 1,200,000

~XHEADERLY S 200,000+ 12& 2,400,000
4223 A2 EH| 268,072 268,072 0

22| ot MMM EAREN 25,000,000

“NHAMESASSH 25,000,000

~SH| XA 23S 15,000,000

SR -HAESEAN L SIS 928 27 8,000,000

n=sa SAEX (A4) 108F A 26,000 260,000

I =t -SAMNEX, EYH 500,000

w2 SAIEH : 85,0003 *43] 340,000
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Mg - HE FIIZE OlALA
<N &> o HA)
G = =58n | o 4o | 543 g4 & 2 (9
2 &} =2 Ofl A2 (A) (B) (A - B)

w3 SAEX 0 A4 40B0X * 25,000 1,000,000
B4 280X * 37,000%! 74,000
A3 2BOX * 25,000& 50,000
SIZYUXZEALE X 150,0008 #2028 A 3,000,000
ANE2ZAELH 150,000 «44 600,000
NEaSAEH 200,000 *12H 2,400,000
AN SAEH 200,000 *8H 1,600,000
BHA4D) - 2ADIEYH : 80,0008 *8H 640,000
- SALKI ¢ 24,0003 408 A 960,000

21 <SMESU>
-SALEX 2,000,000
~=ZADIEH 70,0002 %124 840,000
2220 SASX A4 82A « 28,000 224,000
SALEXI B4 : 38tAx 48,0008 144,000
SAMEUW : 5J1%70,000& 350,000
ZAIIE : 5,00004 %3302 1,650,000
Hegsdas  MEX 18B0X * 24,0002 432,000
A3E Xl 280X * 24,0002 48,000
3EA * 170,000& 510,000
SOICIOHE ALK A 299,000
SAIEYH 108,800
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MY - HIE Z012E Ol&HA
<n& (B9 : &)
2 = =oi%m | G o | oA & & 2 (29 8)
) 8 = Oll &4 (A) (B) (A - B)

FOICIHAE 2AD] Z2ZHILE 227,300
HAXJAHE =2AK EH 2 500,000
SOt =2 A X (A4) 158 A«24,0002 360,000
S A2 X (B4) 18FA%36,000 36,000
SAIEH 49H%70,000& 280,000
2F 0 AdE Xl 26,0003 *1580X 390,000
B4Z2 Xl 38,0003 *x2B0X 76,000
SAINEH (CIXI=2A1023)80, 000 *2H 160,000
A S - SAEX 158F A x26,000& 390,000
22 1t = A XIA4 26,000 * 104 260,000
S ALXIB4 38,000& *2H 76,000
SAMIIEH 100,000 *3H 300,000
FEHEEDN  Ad: 12Box*26,000< 312,000
B4: 2Box*38,000& 76,000
SAIIEH (A 2| 20G2023: 3170, 000 210,000
IIE=X S A= XIA4 (12Box*26,000) 312,000
SAFZ XIB4 (2Box*38,000) 76,000
HIAEED A42X 0 102 A 26,000 260,000
B4& K| @ 28rA 38,000 76,000
2 A E U (DGwox-2023) : 3JH=100,000 300,000

OICIN 202 g2 =2AF=XI(151,000)
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Mg - HE FIIZE OlALA
<X &> (&9 Q)
& = ¥%?§§ (%1;& Bfi A & & 2 A (29 &)
2 &} =2 Ofl A2 (A) (B) (A - B)

OICIOI20ilZ2 -A4 48 A%26,0002 104,000
-B4 18t A%47,0002 47,000
SAAE=Z M= X (HE0001)10box*26,000 260,000
SAIIEUH 29H%80,000 160,000
HARAE X =S AZ X 10box*26,000 260,000
= AR E U :29H%80,000 160,000
CIXIE0ICIC Al&=2|32(DG-WoX1028) ELH 2JH%80,000 160,000
S AFZ X (A4) 5Box*26,000 130,000
SYHEET 2ADIEH 14 70,000
CIXQIHE  -= AR A4 22,000%208 A 440,000
-=SAII EW 77,000%44 308,000
~ZALE Xl A3 52,800%28 A 105,600
22X SUE 300,000 =14 300,000
neal TRIHE 2J4%380,000 760,000
AEH 1J1%120,000 120,000
1=t -Z2I1Ef (hp5200 OTN) £ 220,0008 *2H 440,000
- A (scx-4623fn) EH 105,600 *2JH4 211,200
~2RtIRIE AT 4M4%47,000%23] 376,000

mi=in ~DRIHE
370,0002 *33] 1,110,000
250,000 *23| 500,000
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M - K& =IJIEE 0lALA
<Xl &> . HMAH)
G = 25i8n | G g m | DA & &8 2 3 (29 8)
) 8 = Oll &4 (A) (B) (A - B)

mEns —HAEH 150,000

-AHEsEEESIIEH
Z 21 200,000 #3244 x3H 1,800,000
S84 180,000& *5H 900,000
A E2ZAEH 150,000 *30H4 450,000
-AEASAEH 200,000 *10IH 2,000,000
~MAA S A ELH 200,000&* 6IH 1,200,000

SHAH Dt < OZgly EY >

. EU4 120,000%2J1+110,000%4 680,000
. 22k 120,000 #2JH #3448 720,000
22t 135,000 *3H4 405,000
S8 110,000& *2IH=220,000& 220,000
. BHAEH 120,000 *30H4 360,000
SR 22kl 3 (hp1700) 300,000%37H4 900,000
(HP 2800) 600,000%2JH4 1,200,000
(HP 2555G) 190,000%2H 380,000
(HP 5000G) 130,000%2H 260,000
A EH 120,000%42 0] 480,000
dE2eld 2etTZ2lH &Y : 1set*1,500,0002 1,500,000
WAEYH : 1set*130,000& 130,000
SEIIEYH : 1set*550,000& 550,000
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A - HZE FIOHEE GlatA
<N &> HA)
L = =oian | G woa | SO &' 2 A
2 & S LA (8) (A - B)

dE2N HEADZlH EH ¢ 1set*250,000 250,000
DVOHE A M : 1setx136,000 136,000
elssal C4810A(ZA) 3EA * 18,000 54,000
C4811A(IHE) 3EA * 18,000 54,000
C4812A( ) 3EA = 18,000& 54,000
C4813A(=2) 3EA = 18,000& 54,000
1EA * 120,000 120,000
FOICIOHHE ZRAEYT S85)|168,000& 840,000
ZEEYT He2set*929,400& 1,858,800
T EYT SM3I4+142,000& 426,000

SAUTRHE <FA AR ADE>
.OVDZE 3J1*120,000 360,000
.HDD 32H+100,000& 300,000
.§i9EE(10/100M) 3JH*10,000% 30,000
JHelE2E 308+100,000 300,000
.RAM(DII22l) 5JH*40,000& 200,000
S EW 2J4+70,0002 140,000
.backup Tape20Ii+60,000=1,200,000& 1,200,000
.2 DOVD OICIH 20JH+6,000& 120,000
FOIWSY Z2AHEY 2J4%230,000& 460,000
TAEH 2I1%120,000& 240,000
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<X &> (&9 Q)
G = =5i8n | G g | 543 & & 2 (29 8)
2 &} =2 Ofl A2 (A) (B) (A - B)

21 Z2IEEH(P2055D) 120,000 *4JH 480,000
I A E L (LF5600) 140,0002 +1H 140,000
AZ I A CH2IHEY 37H*140,000& 420,000
| TRIEEYH 170,0008 *24 340,000
TAEL 95,0002 *24 190,000
TRIEYT 65,0002 *1JH*25¢ )| 130,000
SEIEN ZUHEUH: 3I4%120,000 360,000
WAE(]: 2)§*70,000! 140,000
JIESNY D2IHEH (AAML3710ND : 49H%90,000) 360,000
A E L (A E 2] FLF4600 © 2JH*120,000) 240,000
SAINEH (M E2I24300 - 39H*60,000) 180,000
BIAS D Zelie & (M-152003) © 3JH*120,000 360,000
BAEH(CF-1300) : 2JH*90,000 180,000

OICIOI=0lZ Zalf, M AEL4(1,200,000)
-ML-2250G 2EA*180,000& 360,000
-ML-201003 2EA*130,000%! 260,000
-ML-171003 2EA*110,000& 220,000
~CB435A 2EA*70,000%! 140,000
-LF 4550 1EA*120,000& 120,000
SUE=Z ~ZRIEE 3J1*130,000 390,000
~HAE L 2H+70,000 140,000
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HARA IR

CIXIE0ICIOo
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SEIIEH:391%82,000

Jg

A E1H:2J0%140,000
Z2H EU4 294%130,000
3J1+70,000

I5]

eHE U 3I1%200,000
TEE EU4 394%231,000

rar

2= ML 23+150,000

WSASNEX 2HHl 10004

- ¥ BEESX

3,600,000& *72l
- EAEF ¥ &a252,000,0003 92
- SEESHEA(2A2)5,000,0009 23]
- dIREN L S BAES

-StH S 3,0000H+60&

A2 1 4,50000 %23 x250&
-StRIES A  2,00000+750&

-ANESS : 5,00001*200&

: 1,00000*350&

—WAXAHSMH  2,0000H+700&

246,000
280,000
260,000
210,000
600,000
693,000
300,000
200,000
810,000
3,200,000
250,000
25,200,000
18,000,000
10,000,000
1,200,000
180,000
2,250,000
1,500,000
1,000,000
350,000
1,400,000
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M - HE FOHEE OlatA
<K &> A EH)
G = =oian | G woa | SO 84 B 2 7 (89 R)
2 & S LA (8) (A - B)

w2 —WRCIALIISIHE @ 1500H=1,500& 225,000
SR - F A A QLA 1,800,000
-HelEE FEES 2R 2,000,000
222 ZSHOIZT @ 10,00008* 1802 1,800,000
H2E : 28+100,000& 200,000
cHEI|H : 10,0000H 45 =450, 000& 450,000
FRHSCHE 127 A%250,000 250,000
MMafetE Xl ¢ 800k+2,2003 176,000
90&+*150,000&=13,500,000& 13,500,000
8 ME #=Z 5,000,000 5,000,000
i -ZAMY 22Hl 0 8&+400,000& 3,200,000
-SIHRg Z2lE : 5001%5,000& 250,000
-Z2AEECIZ22 6I1+165,000 990,000
-ANE 2K E A S A S AH002H A *25000 2,500,000

SAEZ A U ARE
SIOIEEE H# : 700JH*1,300& 910,000
SOIEEE HI(RZ) : 1500H+1,800& 270,000
SHOIEEE XIS : 30008%1,500& 450,000
SHOIEEE XM (2Z)3074+900& 27,000
SIOIEEEeZE AT (R&)25+3,500& 87,500
22 : 1,00004+1,000& 1,000,000
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Mg - HIE =IOHEE Ol &tA
<K &> HA)
= =5i8n | G g | 543 4 & 2 3 (29
b 2 Ofl AkoH (A) (B) (A - B)
nkein’ 22 XM : 300741,5002 450,000
HAASE HEIY(57) 100Hx15,0002 150,000
0HOI (2 &) 10H+60,0002 600,000
MRLWEE 04012 7 XU10+ 60,0002 600,000
HIDESE 0012 R4 10%100,0002 1,000,000
RGB3HI 01 = (10m, 20m) /RGBE b 2| ,000,000
otola (oA &) /00134 /HAH
ADYEIE AWK, A2ILUS JIEARE
TAMSAS USBHF A 100%3,0002 300,000
~A27S2 300,0002 128 ,600,000
~ISHEAYY) 1,200,000
-0l B R 1,000,000
DB ARERY ,000,000
HSE ¢ 10JH+40,0002 400,000
%z 222 9 ,600,000
-HIRE ote 2l ¥ 93 500,000
s S ,000,000
S AKXl 108 A *20,0002 200,000
S A £ 5H%50,0002 250,000
28I £ 2JH%75,0002 150,000
S A ==clt 500,000
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M2 - A= F=IIEE AN
<n& (B9 : &)
o = 258n | G oy | 54 4 & 2 (29 R)
) 8 = Oll &4 (A) (B) (A - B)

MHNEA ANREE S 500,000
SELESZ 150,000
(:{Xs]}s]] 250,000
A S A -3JI3E) 2H 1J1*96,500& 96,500

4224 Ol M = EHY| 2,000 2,000 0
DIE=ns -2013 HE#&E JtHI&E el 508 %20,000 1,000,000
-24E OIME L2ty| 1,000,000

4225 H8HH| 122,000 122,000 0
2te| ot S AIDJFA 0 10,000,000& x12& 120,000,000
-HeE S5, 2882 3R 2,000,000

4226 MD| - =E= 390,000 390,000 0
2te| ot - I3 : 18,000,000 x12& 216,000,000
- MIIS(g2) : 9,000,000 «12& 108,000,000
- =22 2 7,000,000 *6& 42,000,000
- g2 4,000,000 6 24,000,000

4227 S4ld| 121,833 117,203 4,630
22| ot -85 R= : 4,000,000& 128 48,000,000
NN E8H 0 1,500,000 12 18,000,000
SATRHE 1. QY DU :2808H2*125|=33602 33,600,000
2.SMS : 330,00021*19=6,270,000& 6,270,000
3.&¥ot=0l%: 50,600%12=607,200 607,200
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Mg - HIE =IOHEE Ol &tA
<n& (B9 : &)
G = 25i8n | G g m | DA & &8 2 3 (29 8)
2 8 S LA (8) (A - B)

W =TAMZUE A2l A 300,000

=EHHE0UE N2 NE s Al 300,000

St ot - NSX sty &g st 200,000

- MRS HIgE2HE 23| 300,000

- =AU HIEE2E 2 200,000

- LHE At S AHE 2l 3l | 1,200,000

- N2 XSG A2 S AHE 2 8l 200,000

- St 2tel X g3l 800,000

- ZOHSTMXIR ARA 2| 200,000

SR MU NsE2 3| 13,000,000

-HE2USHE 22l X E 2l gl 300,000

R PNRa] 500,000

-3l A0rA MY 300,000

-ERHEEAZ 300,000

-JIEtE 23l 2,000,000

-JIES&el kg2 sl 300,000

-HESZAX g2s s 150,000

-20H. 2t TH & 2l 3l ] 300,000

~ARAOFM AR XHE 23] 3| 300,000

F=E22Y 2 M2E3Hl - 340,000 340,000

HdIZUSSM2E 3l @ 250,000 250,000
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Mg - HIE =IOHEE Ol &tA
<n& (B9 : &)
G = 25i8n | G g m | DA & &8 2 3 (29 8)
2 8 S LA (8) (A - B)
Z20 <DEE FYSI AL> 3,000,000
<89 YAl AL 9,480,000
OF2rZHI 2rAlHI 2,000 *365+8% 5,840,000
-DEY HE AY 2
B60H*212 1,600 8 & 16,128,000
-getEs 292 4 XAl
30 *3,200& x 120 11,520,000
4232 WE=&H| 108,060 108,060 0
ME '} -W@ SAHSH= ZHI(9,500,000 )
Al ¢S4 - 80 20,000 1,600,000
A4l - 802 55,000 4,400,000
£Z 1 1%+1,000,000& 1,500,000
H==Itz elaidl @ 80%+15,000& 1,200,000
Al 2= 500,000
SR FIH| 300,000
AR AEWNARAT4(1,700,000& )
H=XtZ It @ 1558+10,000& 23! 300,000
AITH © 20 30,0003 *2 3l 1,200,000
CtOtHI © 23]%100,000& 200,000
M RWAAS T 20F*350,000 7,000,000
—MAWRAAS 1 30H*400,000& 12,000,000
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FIHEE W&t

<Xl &> (291 : &)
L = ¥%?§§ aﬁ&?’fi A 4 & 2 A (24 : H)
2 8 g Ol &k (A) (B) (A - B)

W20 -wRAA =&l 43/%1,000,000& 4,000,000
BYUSE SIUSBHNSEHASAFAMOILI(23]) 1,500,000
StE2H FA&(13]) 200,000
Shal 1t SEMEE T 34 ¢+ 300,000& 23 600,000
- BAHEE usy| 400,000
- 4355, 400, 4= ogu=s 600,000
- AL FATL(23]) 600,000
- NS SAEE T W= 400,000
- Z0Hstd EEXN /IS 300,000
- s Esdgdlt F3as(2H1sl) 800,000

& A @ 3,700,000
SR -& A =] 30,000,000
“Aesy ga uE ¥ £ 2,000,000
-uH OME Y Y 1,000,000
2RI (HM2UE Q) H= 25,000,000
-JIEtnsE3| 3,000,000
BYUSE 2SS HMUSAEFE S HIOILH(28]) 1,400,000
AStAZ 2B 3H MOIL(13l) 700,000
SIE2H FA&(13]) 700,000

w2 B IMESENES 4,080,000
WRARXE Adl © 10,0002 *80=F 800,000




HE - HE FIIZEE 0l&A
<X &> ? )
2 =3 = = 2+
- A — — &72?0%?(% o oo | D)2 & & 2 A (29
2 & = = (8) (A - B)
mEns 3| AlHl @ 30,0002 x40 «23] 2,400,000
2HAH] ¢ 200, 0002 *23] 400,000
&gyl @ 100,000 *23] 200,000
A0 AMESHME 10 7,000 x20H x23] 280,000
JE2AN M2USTAM2E2lS MOIL 350,000
MU 2 S 150,000
M= M2 80,000
4233 LBt= A 241,980 241,480 500

Epas —“ZAd=Z 6,600,000
FHN=Y SAIRE R=H| 20,000,000
Jlel 2E X2l 3,500,000 = 12J4& 42,000,000
E20 LR NEZ 330,000 x12& 3,960,000
J1= 0t -G E HAH| 1,000,000
-Jlagiiels A48l 30,000,000

<HaEsEIIZ2d & HE2IHE S
w2 -St&(0D M &l 500,000
sE2u ZMEJ| 600=*4,500& 13 2,700,000
CHel 1At 60,000x123 720,000
HelEE HetEot A48 60,000,000
JIE2&2 AMAEIRS 50,000,000
Jd22ed -ALET NS U2 2H| 500,000
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T0852~856(Z 21544)  20set=12,200+6 1,464,000
2 IHA4 A 2822500 2071+6,050 121,000
X & (4~5m) 20J1+600 12,000
HOIATIIE (10ml, 1044)  10J4%5,600 56,000
HHAS 90J1=2,700 243,000
H(HAIE) 300,000 300,000
S EXI(A4,809) 5B0X*24,200 121,000
& &XI(A3,80g) 5B0X*49, 500 247,500
M S Xl (superA3,10001) 202 *30,000 600,000

287 1,518,500
ASTE Z25g 512,600 63,000
AHS=S5=36g 10074600 60,000
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M - K& =IJIEE 0lALA
<Xl&> (&9 &)
H = =oian | G woa | SO & & 2 (29 8)
) 8 = Oll &4 (A) (B) (A - B)

Ots0l=CIx 749 10091 *900 90,000

ESEE80g 509K *660 33,000

ASTOPPEE AHIOIZ(£Y) 18FA 50,000 50,000

AJCHEEHIOIZ 309H=*1,700 51,000

TSRS (S MH2emi6E ) 90IH*2,500 225,000

SAIE 509K *450 22,500

HHABS 90IH*3,600 324,000

CHHYXEHC /oHM 100&*6,000 600,000

-ASMHE Y 10,000,000

OICIO20Z HOIZtHE R=2(1,089,600)

-Z& HIE 13 *44,000& 44,000

S Al 122+80,000& 80,000

-ZHI0{ &0l 1+30,000& 30,000

- ® S 13 *48,000& 48,000

-ZstE Ul 13 40,000 40,000

-2 8 IAFS] 12 *52,000& 52,000

~ZIEAI A 14 %48,000& 48,000

-AlE 13*40,000& 40,000

-Z2Ec¢ct 13+36,000& 36,000

-0FAIOF 12 *45,000& 45,000

-2HI¥132 12+80,000& 80,000
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MY - HZE FH3E GldA
<N &> 9 dJ)
ot = B8, |8 2| Bz g & o
2 & S LA (8) (A - B)

OICIH=E0Z -4 12+50,000& 50,000
-HIHI 228 17+48,000& 48,000
- AIS 12+100,000& 100,000
-St==28 12%40,000& 40,000
-20S2 14+48,000 48,000
-282 2= 13+50,000& 50,000
-E24 4 13+25,600 25,600
-S=8 123+100,000& 100,000
-2t AY 12+85,000 85,000

SAHZXI(2,434,000)
-AdE Xl 708t A%26,0008 1,820,000
-BAZS Xl 28F A 47,000 94,000

A E14(690,000)
-HP5200N 3EA*230,000 690,000
“UAELRNY &5 13,000,000

ANZCIRIZ <180)>

-2 12001+8,250 990,000
-S A 12004%9,000 1,080,000
-Jk 13098%1,500 195,000
- H 13008*1,160 150,800
—AFZ 13098%1,200 156,000
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M2 - HE FItEE 0l&tA
<X &> (Bt @ &H)
G = =oian | G woa | SO 84 B 2 7 (89 R)
2 & S LA (8) (A - B)

AT IS -HI2tU AFZ & 13004360 46,800

X< 13094%510 66,300

-5 =2 25008540 135,000

-HS=SS2 13091+600 78,000

-CIXHQIHE 1009H+4,300 430,000

-HEIZ 13091%350 45,500

-HEE 13094%350 45,500

&AL 120X+ +3,300 396,000

-2 JHXI= 2000H+2,700 540,000

-Mrel Il 2K E+3,600 7,200

-2 3JtXIEI0I 2 5071 *660 33,000

-2 Ot 30cm 130K %250 32,500

-2t XF 50cm 1309H %650 84,500

-Ot3E X 10ME*12,070 120,700

-0 =2 10ME%26,180 261,800

-1 100M E+13,800 1,380,000

-7gX 10ME*9,030 90,300

- AEZCH 9N E«48,840 439,560

LA 4Z 1,400 %240 336,000

-AEX 42 1,000&+130 130,000

A4S ALRl 55t A %19,900 99,500

_58_




Mg - HIE =IOHEE Ol &tA
<n& (B9 : &)
G = =oian | G woa | SO 84 B 2 7 (89 R)
2 8 S LA (8) (A - B)

AZCITHIE A3 AJHMAEZ K| 5IH*31790 158,950
-A4 LARNMEEX 1094*10,960 109,600
—-SA3 AAXMEEZ Xl 5IH*27,390 136,950
-A3 EEQISIXI 5J1*26, 180 130,900
-Ad EEQISHX] 301*14,300 42,900
—-CO-R 102 5,780 57,800
-2 3 70851 S 40JH=12,200 488,000
-2 3 T0852~6 Z & 80JH*12,200 976,000
-2 3 T007 S 5J1+26,180 130,900
-2 3 TO09 Zet 5J1%33,990 169,950
-USB 31G 100JH*51,600 5,160,000
-2/ &35tE 178 6J1*174,000 1,044,000
-2 450ml 541,700 8,500
-0t 2 10JH%11,000 110,000
-I|£E 501*15,000 75,000
-0{OI0IEXI 48 500& %480 240,000
—-35tE 12J4&+165,000 1,980,000
-8 =4l 13%200,000 200,000

<28&J| 5,868,520>
-A4 LARNMEX 1094*10,960 109,600
-A3 LIANEEX 5IH%31,790 158,950
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A - HZE FIOHEE GlatA
<X &> HE)
L = =oian | G woa | SO &' 2 A
2 & S LA (8) (A - B)
AZCI X —SA3 A FAME X 3IH+27,390 82,170
-A3 EEQISIXI 5J1*26, 180 130,900
-Ad EEQISHX] 301*14,300 42,900
-SelZ e A3 100J1+18,000 1,800,000
-Z2E 3004*3,800 1,140,000
-3 70851 == 40JH=12,200 488,000
-3 T70852~6 Z 2 80I*12,200 976,000
-8 24| 131%x200,000 200,000
-ASMHZ ol 3,000,000
FLelCIXe = 18] (11,764,830 )

T gl E23 Epson photo R2400 733,120

LLK 4JHx33,900&

LM 4Jix26, 180&

LC 4JHx17,600&

LK 4J8x17,600&

PK  4JHx17,600&

C  401x17,600&

M 4Jix17,600&

Y  40Hx17,600&
SC0-RW 3Zx11,400& 34,200
E 2 HZ(MONOJ) 198,000
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A - HIE F=I1EE Ol A&tA
<Xl &> (&1 @ &)
G = =oian | G woa | SO 84 B 2 7 (89 R)
2 & S LA (8) (A - B)
~2elCXe 2B 10EFAX7,920&
48 10EFAX7,920&
HB 5EtAX7,920&
S 2 U X0 (TOMBOW) 8SETx1,900& 15,200
eI &5HE 50068 1JHx 120,000 120,000
M2l 868 5R0x 10,000 50,000
A 500ml 2Ex5, 100& 10,200
ADEJHER 300&x500& 150,000
A X 500&x20& 10,000
2E2EZEY 115,000
10%10cm 10074 x400&
20%20cm  5078x1,500&
COIOL2EE 7.6+20cm 45JHx4, 400 198,000
s 208,410
0.8mm 5+5cm 192& x350&
0.6mm 7+7cm 85&x510&
0.8mm 7+7cm 85& X660
0.6mm 10%10cm48&x870&
22 R 455,000

&A1 1kg 19Hx50,000&

QEA kg 1JHx110,000&
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M - HES =IJ1Z3A 0l&tA
<n& (B9 : &)
L = =555 | G ga | SO 4 & 2 A (2 R)

4]
0
Jo
2
>
2
=
)

(A - B)

#ECILINE A () 5009 19Hx45,000&
SS9 (5)500910x45,000&
Z & M (£)500917Hx45,000&
533white 100g 7=x10,000&
c.m.c 500g 27ix45,000&

&k 5IHx29,700& 148,500
LPG  1Jix57,200& 57,200
SEUHSIHES 4001x2,200& 88,000
SHET| A (strong208B) 40JHx214,500% 8,580,000
QIS J1(12v) 209Hx9,900& 198,000
QISIIZED|(=4H) 20Hx19,800& 396,000

* 28tJ] (1,314,200€)

S Z(4) 40Hx24,200& 96,800
M2 (EE2)40Hx6,600 26,400
S8 Imm 5+5cm 160&x385& 61,600
HSE 1mm 5+5cm 160&x495& 79,200
AEIZIE 0.8mm 500Hx440& 22,000
S=d 10JHx13,200& 132,000
LI (Ht2) 15JHx28,600& 429,000
& =(8000#) 474x6,6002 26,400
SH =00t 3«12& 22fAx151,200& 302,400
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MY - HZE FH3E GldA
<N &> 9 dJ)
= = =58y | 5 o | 54 & & 2 (99
2 & S LA (8) (A - B)

FLelLIANe dgf AETI215 80&x1,730& 138,400
-a2sMEHl 6,000,000
SHHEEZ -IIHIEEI01Z 10942, 200 22,000
-2 10J4+32,000 320,000

-2
6750%2000( AFOI =) 724,500
-0 2 AH(3,600,000) 3,600,000
HAGAER HSQIBI I3 (WA ) :25H+75,000 1,875,000
HEF(HEH B T ANo.3):100S+18,000 1,800,000
B = QIS Ul E (21El) :578%30,000 150,000
B = 21E H E (2 9 ANBGIS) :509H+12,500 625,000
BHE Qe & (31 2LIKGT102) : 10094 *2,000 200,000
15Kg 2 B (24 A HHA) 1 100833, 000 330,000
T0Kg® B (2 A HHE) 1 100822, 000 220,000
HH HH(I S S170cm) : 107%26,000 260,000
Otz = (PVCRE 0HE &) :3071%3,000 90,000
Bh g2l 29137, 500 75,000
442424 (145cm*70cm) : 807H+3,800 304,000
EFE SO (32! X1 %215¢m) : 10box*8,500 85,000
AEF 2ZF2t2(=0146cm) 14set*27,000 108,000
SNHI A (XE270) :2494%16,500 396,000
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A - HE FIIEE Ol&tA
<X &> o ma)
ot = L2013 g x| z(a)Z )
2 8 = s | O & (A - B) & & 2

CIXIE0ICIOo

02
0z
N
=
[

s73 (&) 15J4%29,700
B3 (¢ &+):1074%39,600

SAZ X (H E01101-A4) : 10Box*26, 000
24 (CLP-600NG) 2l 21 E L1 :2Set*310, 000

HP(C4096A) : 21+ 158,000 &

HP(C8766WA) 2 21 2 3 : 201 %38,000&
HP(C8765WA) 2 & & 3 :2J1+32,000&
A+4 (CLT-4068) £ 4 : 2Set*233,000&

A AETHR

0

-AAE Xl 15Box * 26,000 = 390,000

—-dvd 102 * 50,000 = 500,000

-32G0I 22l 2= 4001+80,000 = 3,200,000

ol

-sd JtEE 2

0

-SREIN(ELE) 3setr 60,000 = 180,000

ot AHEI=x SoftWare ? 4|

-100D2

&otE 10J4+200,000

SEBYS 602+2,000& 22!

-S4 AXI0F 16091%25,000

f 504 = 40,000 = 200,000

445,500
396,000
260,000
620,000
316,000
76,000
64,000
466,000
4,470,000

1,000,000
2,000,000
96,000,000

240,000
4,000,000




M - HE FOHEE OlatA
<K &> A EH)
G = =oian | G woa | SO 84 B 2 7 (89 R)
2 & S LA (8) (A - B)
FOtWSU -AZMHEE 160 4,000 640,000
W= AE(3,940,000)
-SEYSE 602+2,0008 *23] 240,000
-SXEAE 23 602+25,000& 1,500,000
- AHOlE ZEARHI 2 200,000 400,000
-3 XN& WSHl 60=2+10,000& 600,000
- & X &Hl 602+10,000& 600,000
- I3l 6022+10,000& 600,000
SOot2 22 A5(1,080,000)
-REES 302+2,000& <23 120,000
—AEMHE 160Z%4,000 640,000
—ASM2AFEZLE 160JH*2,000& 320,000
2= 45(3,940,000)
-RELS 602+2,000& <23 240,000
-0{El0IE 3 E 23] 60R+25,000& 1,500,000
-Qe| A 0l&E ZAHl 28 %200,000& 400,000
-=3| A& wWSHl 602+10,000& 600,000
-&&X5Hl 602+10,000& 600,000
-&Jt3ldl 602+10,000& 600,000

O AN&g

- NI&Hl,

S&asHl (1,350,000)

WS, &8Ok (30,0008 )
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MY - HZE FH3E GldA
<N &> 9 dJ)
= = =58y | 5 o | 54 & & 2 (99
2 & S LA (8) (A - B)
ASIL 4574 X +30,000& 1,350,000
O A BFaE&Hl (1,500,000)
- N=Hl, w&SHl, # Ot (530,0002)
5071 X1 «30,000& 1,500,000
A2 EH (SSLSHLIIEBARE) 100,000
22 dFa &L (25 181D])
A S A =4I (5004 &1 +10,0002 ) 500,000
W SHI (5090 X *10,000& ) 500,000
Z Oyl (5004 X1 *10,0002 ) 500,000
SELSH| (500 KM *18]*2,400) ) 120,000
SEYEL  wW=saE(1,560,0008)
-&&XI&Hl: 400§ X +10,000& 400,000
- SHl: 4098 X *10,000& 400,000
-&IHHI-1%: 4001 X «10,000& 400,000
-EE Sl 2,500 *4000 X1 +23 180,000
-SAHHl & A23H]:180,000& 180,000
HE=XL B=4EHI(3,200,000)
-=3 X, S, E I8l 10090 X 30,000 3,000,000
-RBZ : 10094 X *2,0002 200,000
A= XIS & A& (10,560,000)
-S4 Sl :160E 50,000 8,000,000
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MY - HZE FH3E GldA
<N &> 9 dJ)
= = =58y | 5 o | 54 & & 2 (99
2 & S LA (8) (A - B)

HESAL - =3 XS, WS, Il 8090 & *30,000 2,400,000
- I : 80X 2,000 160,000
A28 8 & & 5HI(6,880,000)
-Std & = X2 Hl:160%40,000 6,400,000
-3 X5, W&, Oty 11574 X *30,000 450,000
-SEZ15J4 X *2,000 30,000
YA 3 & IH(4,320,000)
-SYAETUAAF I 1008 #4231 %10,000 4,000,000
-—u=QlEH| 1 38 *43]%20,000 240,000
-ZWQIEH] 1 28%45]%10,000 80,000
ARSI S A S LR QMY 2,280,000

IWECIXQIE - s A EHI(1,800,000)
- =3 X8l 6074 X1+10,000 600,000
- wSHl 604X *10,000 600,000
- EJtdl 609HX1+10,000 600,000

OlS0I=liT Bs4% 2,480,000
INE= ] 402 H=10,000 400,000
nESH 402 H*10,000 400,000
EOH 402 H=10,000 400,000
ozeH
et 402 M *500+23] 40,000
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Mg - HE FIIEE 0l ALA
<Xl &> (9 &H)
o = =oi%m | G o | oA 4 & 2 (29 R)
) 8 = Oll &4 (A) (B) (A - B)

OtS0I=CIE By 40 MI*500%2&] 40,000
HAE2E T 40 MI*20,000 800,000
AEe|dHolE
ZAE 12 %22 x200,000 400,000

AMZCIXRIE 23| Xl S HI(100,000)
- WEHl : 5J4%10,000 50,000
- =3 XI&H| : 5JH%10,000 50,000

FLelC e @olss el
-wWEHl 1004 X *10,000& 100,000
-=3| X =Hl 109 M*10,000 100,000
-E Ol 1004 XI*10,000& 100,000

OICIH20IZ -ArS M & & A & 3,700,000

HARALE R £H:453%50,000 2,250,000
2= A AI]:45Y +60,000 2,700,000
A91:45% 100,000 4,500,000
A8 E:45%%100,000 4,500,000
SIEASH (NEAE):302 M *30,000 900,000

HAAHEXZ HEASH| 1,700,000
-XI&Hl 40 = 30,000 = 1,200,000
-HIt3l 13 * 500,000 = 500,000

A <8t= EFAHH|>
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HEg - &g FIIEE Ol AN
e 9 EH)
T = L2013 = z | B(A)E - o -
= o = acam | NG| - EEE T

oy
02
S

1

n
[

AHA R 248k (6,340,000)
—-X+&tHl 600,000 *3CH*2L
—-2FAbHI 200,000%3¢!

-=8tH| 5,000 120 «12f

-Al&0I8Z 400,000&x1

-XI &l (=) 20,000 *3E*x2
-XSEHI(=w) 10,000 x1H*2

AZELL O A ASHl (3,760,000)
- Xt 12601 x600,000&

0.
(DETREHR IIAZAR T

o

e 1E+12+83]*20,000&

O AlMENE3t s=E AHI(1,950,000)

Hx12+20,000&

6
1w 3Y*12+10,000&

g

20 2SS EA | (18E-181D])

X2t (32 +40H*600,000& )

)

3,600,000
600,000
600,000
400,000

1,000,000
120,000

20,000

3,600,000

160,000

1,800,000

120,000
30,000

7,200,000
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A - A

[l

FIHEE W&t

<N &> 9 dJ)
= = =58y | 5 o | 54 & & 2 (99
2 & S LA (8) (A - B)
L =811 (175& %28¢+5, 000 ) 1,750,000
SHHEASEEH (1758 20,000 ) 3,500,000
K&t (48+32%20,0008, =) 240,000
X =t (28*32 10,0008, Zu) 60,000
Helst=g A (181 E-2810])
=8| (1502 <38t +5,000% ) 2,250,000
W SHI (42 *40H*400,000& ) 6,400,000
SEHNEE (1508 15,700 ) 2,355,000
K&t (4852 %20,0008, =) 400,000
RS EALI (28HEH-181D])
RHefH| (32 #4011 %600,000 ) 7,200,000
= 8HH (160%2H+5,000& ) 1,600,000
2N A SEAHI(1608%10,0008) 1,600,000
X =t (48 *32 20,0008, w==) 240,000
SHERL st=gAHI(22132)- 18t (8,010,0008 )
-=EHH] 1 1202 «2F+5,000 2 1,200,000
-A EHl-w=:3H+3&*20,000& 180,000
- EHl-Z w132 *10,000& 30,000
-EHHIE OtH]: 120 %10, 000 1,200,000
-XtEfdl: 3«30 *600, 000 5,400,000

St= gAYl (22132 )- 2514(8,010,0002 )
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Mg - HE FIIZE OlALA
<N &> o HA)
G = =58n | o 4o | 543 g4 & 2 (9
2 &} =2 Ofl A2 (A) (B) (A - B)
SEIEN X :32L«30H*600,000 5,400,000
~228HY| 1 120 *28t+5, 000! 1,200,000
-~wW=E X EH-w 4 :3F 320,000 180,000
~DEXCH-ED: 1832 +10,000 30,000
—S X &Il 11208 +10,000& 1,200,000
HIAHED  pstsCAb
-Xt2Hl - 401*22%600,000( S ALE L & 4,800,000
—Z=8HY| : 160 * 185,000 800,000
~XIEH (=) @ 3H*22 20,000 120,000
“NEHI(x1) @ 28*22+10,000 40,000
IHECI AT - QI E XIS HI (160,000)
-4 20,000+ %3 120,000
-2 : 10,000%2*1H 20,000
OFSOISCIX st&=E Al 4,320,000
tH A CH 04 2600,000%2CH*23| 2,400,000
JIAFZ AFR 50,000%20H*23] 200,000
SHXI &I 10,000%x80% «23] 1,600,000
[IE=pN==]
o 20,000%2H x23| 80,000
x 10,000%22+23] 40,000
OICIOI20iZ2 =ZE ALl 28F 32 (5,850,000)

_71_




Mg - HE FIIZE OlALA
<N &> o HA)
G = 25i8n | G g m | DA 4 & 2 (A
2 &} =2 Ofl A2 (A) (B) (A - B)
OICIG 202 -XF 2l 20H*700,0002 »3 4,200,000
~Z58H| 90 *5,0002 25 900,000
-QIE X EHl (W =)2%*20,0002 3 120,000
(R1)1Z+10,0008 *3 30,000
-2 XIoI4HHl 1002 600,000
ZECHARE 18t 22 (3,950,000)
—-Xt2F 2CH*700,000& 2 2,800,000
—258H| 90 *5,000% * 18} 450,000
-QIEXIEHI (=) 2Y*20,000& x22 80,000
(X1) 12*10,0008 «2 20,000
-2 XIol4HHl 1002 600,000
AZCIRHRIZ shas & ARHI (2,360, 000)
-OFAAAIX ¥ &= AH(150,000)
~KIEH © m222%32+20,000 120,000
2 W 1¥*32%10,000 30,000
-8t & AH(2,210,000)
-XI&Hl @ W==2Y%20,000 40,000
Z12+10,000 10,000
-UEZ 1 120Z+3,000 360,000
~XH2F(CHOA): 3CH*B00,000 1,800,000

el Ate

SO0 AINK & = ALY
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ol . = = X
g - HE FIEE G&A
<n& (B9 : &)
nt g 2018 | = | 54
=o1A™ | g A ok a4 & 2 K (29 )
2 8 g Ol &k (A) (B) (A - B)
#ECURNE -XEH: W3Z*20,0002*3 180,000
-X&Hl: ZW1E«10,0002 *3 30,000

-Xh2 (B A) 20H+600,000 1,200,000
X &EHl: W ==3%%20,000& 60,000
-XI&Hl: Z2W1HE«10,0002 10,000
-Y&EE & JIEH 80 #5,000& 400,000
SYAE=L 18 BASY HE 2,040,000

-Xt&dl 28] » 600,000 = 1,200,000
- X &OHdl 80 « 10,000 = 800,000

ol XI&Hl

-u X&Hl 18 = 20,000 = 20,000
-2 XI&Hl 28 = 20,000 = 20,000
28tE sh=g A 2,040,000

-Xt&dl 22 » 600,000 = 1,200,000
-CEX FOHdl 80 + 10,000 = 800,000
olE XI&Hl

-w= X&Hl 18 = 20,000 = 20,000
-2 XI&Hl 28 = 20,000 = 20,000

HMDSE SESHR VS B

e
0
=
A
02
0y
(=

1,000,000

_73_




A - A

[l

FIHEE W&t

<N &> 9 dJ)
= = =58y | 5 o | 54 & & 2 (99
2 & S LA (8) (A - B)
gdu=a - B 300,000
- B8l 221%200,000& 400,000
FOISM2IH Y A
- J{0t8l 121%200,000& 25} 7| 400,000
- A2 28l 121%500,000& *25} J| 1,000,000
- 82223 MA 131%300,0003 «25} 7| 600,000
- HEA H ST JAHHY| 23280 1,800,000
FOtW=2 <JIE AASH>
Sty ORI (2,622,000)
-HE3 500 2,500 1,250,000
-ZAE 200%+3.0002 600,000
-=0& 350 *500& 175,000
-8 =9} 20§ (10§%77,000, 10H=170,000) 247,000
-NES5% 1,00001+200& 200,000
-EXISS 1,00008*150& 150,000
% & (4,095,000)
-FOIWSAZZ0SZ 38+200,000& 600,000
-NEIESHEE 18+200,000& 200,000
-Ro8E KOtWFII2E 38+200,000 600,000
-FHYZEZ2MA S2 38+200,000& 600,000
-SSXAg =22 1608+10,0002 1,600,000
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480,000

|

=

o

A (e

160 +3,000

A

o o o o o o o o o o o o o o o o
o o o o o o o o o o o o o o o o
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M2 - HE FItEE 0l&tA
<X &> (Bt @ &H)
G = =oian | G woa | SO 84 B 2 7 (89 R)
2 & S LA (8) (A - B)
UEZE= -EU(HP):2+70,000=140,000&

-EU(&4):2%110,000=220, 000
-AF2 831l 150,000%2=300,0002
0 82ZAH & S5 HZAHI:500,0008 500,000
-EE2ZAH MAHHl 200,000
-5 M8l : 300,000
O alz2gd @ 7,000,000 7,000,000
-3,500,000+22|=7,000,000&
O d2gd@0F : 600,000& 600,000
-3 1Z @ 100,000+22|=200,000&
-Std A= ¢ 200,000%22/=400,0002
O dst=0l8& 462,000
- 4G : 12J§2*38,5002=462,000&
O AgdE=2Hl @ 90,000 90,000
-39 : 1J4%90,000=80,000&
O 2g/AA32 @ 240,000 240,000
-6 *43]%10,000=240,000&
OJ LT : 660,000 +22|=1,320,000& 1,320,000

- =8fH]  12Z%10,000&=120,000&
- WEHl 1 128#2x5,000&=120,000&

1z

Hl : 12Z+55]%5,0002=300,000&
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- ZAZ : 2%200,00091=400,0008
- AlH| : 12€%23]5,0009=120,000
- ZBH| : 23]%30,0008=60,0008
O 2stdl : 200,000 200,000
O al2grsy| 300,000
- 23|%150,0002=300,000%
O AltH 1,920,000
- 12202 *10% *43|*4,000=1,920,000%
0 &S4l : 3,700,000 3,700,000
- 28t 5% %103 *50,0002=2,500,000
- 18Hd 5% «123]x20,000&=1,200,000
O ALREFHI42lHl : 500,000 500,000
O 2I&stE 2l : 300,000 300,000
O Stoiet 28l : 1,020,000 1,020,000
SOtNEY -9 BKIS & AL 1,000,000
AZSELN SHeloZEus>
-XISHl W2 6% 20,0008 2L 240,000
X1 3*10,0008 2 60,000
~2AE 2,100,000
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HQ - HIZ SOIEE OlAA
<n& (B9 : &)
G = =58n | o 4o | 543 & & 2 (29 R)
2 8 S LA (8) (A - B)

OICIOIZ0lZ —AZ&HOIA HME 14I1%15,000& 210,000
-&3 et 2Z+500,000& 1,000,000
=4 28+300,000& 600,000
24 48+200,000 800,000
=& 48+100,0002 400,000
-KE W A& 2Z%200,000& 400,000
—& Atdl Ol 42 +300,000& 1,200,000
=& 2E+400,000& 800,000
—Al&FAL B 4=0F 80,000
-Z =23 1008 400,000
-Z0X 70,000
—Ab S} 90,000
A&l &4 D EH| 100,000

<S84 Al4(5,100,000) >
-&3 4h*3,000,000& 3,000,000
-&JAtHl 2 2| 1,500,000
—Al&Al ZHIHI 600,000

<SHEES $9(255,000)>

-8 49 3J4x85,000& 255,000
AZICI X -B 2 & X2 H|l 40,0002 %120 4,800,000
FL2OXE -B2EXI2Hl 30,0002 *79Y 2,370,000




- Mg =138

X

Ol &F A

o
<X &> A EH)
2 = 2588 | G o | = 8 & 2 (e
) &t =2 Oil AFOH (A) (B) (A - B)
4330 AlZeldl 560,710 560,710 0
4331 A== 120,000 120,000 0
miSin’ —Q Al 120,000,000
4332 2 Al &I 440,710 440,710 0
miSin’ -YAEE L HEHARY 440,710,000
4400 w=2Adl=2 30,000 30,000 0
4420 JIEtW=2H & 30,000 30,000 0
4421 &4 30,000 30,000 0
s <EEA> NER BE S 30,000, 000
4500 MEZ3 500,000 500,000 0
4510 &=3 500,000 500,000 0
4519 D2 HE &S 500,000 500,000 0
Jl=l QDIZIAHNHES>
“ASE AIAAH JIBEHEEY 500,000,000
4600 Oldldl 5,000 5,000 0
4610 Ol 5,000 5,000 0
4611 olldldl 5,000 5,000 0
1= ot <ol HIHI> 5,000,000
1300 JE XA X = 3,261,892 1,739,496 1,522,396
1310 S D E XA X 3,261,892 1,739,496 1,522,396
1314 J1H .21 = OH I 1,764,176 246,780 1,517,396
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. & MA)
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& = ¥%?§§ %ﬁ&iﬁ AU & & 2 A (g9 : &)
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HARAE X TISHMSI(EE):11%550,000 550,000
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= 0rE 0l A (1set—4EA) : 1set 600,000 600,000

GHAHE=EE IR 5,600,000
-0F2/ Z800Wkit 4set*600,000= 2,400,000
—BoomMicset 4set*800,000= 3,200,000

Epa; <WSEI|IXHOHLEI>
-UEE A% (BRHEH 2A4E) S 50,000,000
-JIEF JIXETH ORI 20,000,000
<A ZIIXHHOH 81>
-2/ Xt 300,000%20H 6,000,000
-2 Ak 300,000%20H 6,000,000
-2 250,000%20H 5,000,000
-JIEtEDIHIS oHe bl 10,000,000

220 Display Device(312A3): 14 9,900,000

SEIEW  Z2IE(A4) 1eax500,000& 500,000

mianl; AAEASH IS IEREI 1T 1,550,000
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Mg - HIE =IOHEE Ol &tA
<n& (B9 : &)
=2 =3 = = 2t
- A = — &72?0%?(% oo | A &4 & 2 3 (29 9)
_ & 5 (B) (A - B)

mianl; AAEASH 2HIIE IESEI 1H 1,200,000
NEASEY AMUA 1O 600,000
HATHHE 1 HEKT IP A2 € It & 4,500,000
2. - AR WAISCH+1658H R =4950t & 4,950,000
3.MEEES AAET=:50,000,000 50,000,000
4.08B 2ZHAH ¥ 253 ¢ 99,000,000 99,000,000
5. 182822 AIAET=Y 50,000,000
222 0SS e-learnin(0l21)sw 10,000, 000
-8 & e-learnin(0l&l )sw 10,000,000
FOlR=) -NS=2 CDEOIS 423,000
F2elUXE —keyshot WSS 2H0l Ml A 40userx1IH 3,399,000
FE22Y <AL= S/WoHdl> 16,500,000

SN2 SEOHHAIAE
HUXNZHE -y E E= 2 ¢ 7,000,000 7,000,000
FE2Ac|Y ALEZANZ H2SE 5,000,000
2tel 1t g4 2 0ISIIA P 7,000,000
-&0l4! Ol=HI0IE 2091%100,000& 2,000,000
FLelCIXe -& AlCH(300%300%1000) 20JHx170,000& 3,400,000
—9H X+ (400%400%62) 80IHx25,300& 2,024,000
=F ) 300,000

1316 X267 IHHI 0 0 0
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HE - HE FIIZEE 0l&A
<X &> ? )
H = =oi%m | G o | oA & & 2 (29 8)
2 & S LA (8) (A - B)

1317 A Pl 98,600 98,600 0

Z2ALY o= A ¢ 3,8002+18,000¥ 68,400,000

-DVD @ 4003 +*25,500& 10,200,000

—-e-book : 400&*50,000& 20,000,000
1319 A& ItAE 1,000,000 1,000,000 0

E20 -AE BHF, B0 HAANL X S 1,000,000, 000
X1 ol A3 1,212,471 907,399 305,072
32X & 34,628,334 27,988,354 6,639,980
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